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Instructions for the candidates :

1. olereff OMR STR U5d UR 39T UeH GREIHT HHIB (10 DI PI) ALY
ford |
Candidate must enter his/her Question Booklet Serial No. (10

Digits) in the OMR Answer Sheet.
2. TRIeTef} TATHHT SO IeaT H B SN G |

Candidates are required to give answers in their own words as far
as practicable.

3. qIfeN IR BRI R & U ofd gunies ffde avd 2|

Figures in the right hand margin indicate full marks.

4. gel ®I LFYdd Ugd @ o1 wRiefil o1 15 e @1 srfaRed |wa
fe=am T 2



15 minutes of extra time has been allotted for the candidates to
read the questions carefully.

g Y—gRAeT a1 Wosl § favdd & — @vs—3 U9 WUs—d |

This question booklet is divided into two sections - Section-A and
Section-B.

Gus—3 H 70 q&IfTS U B, ROFH A fbgl 35 UwAl &1 IR oAl
AR 21 35 Ul ¥ 3AH P IR I W UAA 35 BT B HATDHA
BN | UAd & foly 1 3 MEiRd €1 3@ SR o & oy Iuct&d

PRI T OMR STR-95% # faU U 981 fAdey &l el / &Il 97

U9 9 e | B ff YR & geeR / R g / =i /

AREA o @ OMR STR-UYF&® H WANT &A1 A1 7, 3FIAT el
aRUTH 3FHT=T BT |

In Section-A, there are 70 objective type questions, out of which
any 35 questions are to be answered. If more than 35 questions
are answered, then only the first 35 will be evaluated. Each
question carries 1 mark. For answering these darken the circle
with blue / black ball pen against the correct option on OMR
Answer Sheet provided to you. Do not use Whitener / liquid / blade
/ nail etc. on OMR Answer Sheet, otherwise the result will be

invalid.



7. GUS—g H 20 g SR U & | IS B foly 2 3 FiRa 8 [
A B2l 10 A1 BT IR 1 AFER & | 590 AfIRed 39 @vs H 6
dd I T Ry M E, u_e & oy 5 ofe fwiRa € R @
fP=El 3 Ul BT IR <A1 AR 2 |

In Section-B, there are 20 short answer type questions, each
carrying 2 marks, out of which any 10 questions are to be
answered. Apart from these, there are 6 long answer type
questions, each carrying 5 marks, out of which any 3 questions are

to be answered.

8. P TR & Seldid ISR & JANT Yoiadr afsid ¢ |

Use of any electronic appliances is strictly prohibited.

Tuvs—31 / Section-A

axqfss 434 / Objective Type Questions

U A 1 ¥ 70 9% @ forg IR Rawed Ry 1w & 9 9 R v w9 2 1 g
T 92l fadwed &1 OMR ¥ie ®R fafed &3 | % 35 Ui & IR < 2|

(35x1=35)

Question Nos. 1 to 70 have four options, out of which only one is correct.
Mark your selected correct option on the OMR Sheet. Only 35 questions are

to be answered. (35x1=3%5)

1. g8 O YT fead defod ® ?

(A) S (B) &



(C) e (D) & & B e

Narma is related to which of these ?

(A) Jute (B) Cotton

(C) Coffee (D) None of these

ST ¥ B 3Nff® e &7 Udh IuerH T8 8 ?

(A) T e (B) irenfires et

(C) P gt (D) R e

Which of these is not a sub-field of economic geography ?
(A) Resource Geography (B) Industrial Geography
(C) Agricultural Geography (D) Gender Geography

fbae Tafeeddare o1 Hheudl UK[d &I ?

(A) Rex (B) gHiee

(C) Rrfther TR (D) ¥

Who introduced the concept of Neodeterminism ?
(A) Ritter (B) Humbolt
(C) Griffith Taylor (D) Semple
frforRaa & | @9 foRe ST arerm &3 78 7 ?

(A) ITCTHAT (B) A W& U<
(C) feror—gdt TRrn (D) gdr we=
Which of the following is not an area of sparse population ?

(A) Atacama (B) Equatorial region



(C) South-east Asia (D) Polar regions
Preforfaa mereel # & fret s giy—ax waifie ¥ ?
(A) smpTenT (B) <feror s
(C) wRr (D) STR 3R

Which of the following continents has the highest growth-rate of

population ?
(A) Africa (B) South America
(C) Asia (D) North America

STHIfhdT Th ST—IMET 7

(A) qarepfcr fasm ot (B) STEAT e Bl

(C) Sterarg s (D) uRee opirer @1
Demography is a sub-branch of :

(A) Geomorphology (B) Population geography

(C) Climatology (D) Transport geography

g | DI A9 N & w9 ' ?

(A) T (B) Iad dryofraar
(C) Scareet (D) T & =it
Which of these is a pillar of human development ?
(A) Equity (B) Sustainability

(C) Productivity (D) All of these

1 DI O RIFRYT 6T Gflhy bR el g 2



10.

11.

(A) RIS (B) wETRY

(C) 5Tl Hahe (D) ISR & 31a9R
Which of these is not a push factor of human migration ?
(A) Unemployment (B) Epidemics

(C) Water Crisis (D) Job opportunity
STH A DI SRS FHAT DI Y AqRRAT BT JAH & ?

(A) STa gor=elerar vd S Axiar (B) = goreeeiterar ud = Adan
(C) (A) 3R (B) T (D) 377H @I e

Which of these is an indicator of the first stage of demographic
transition ?

(A) High fertility & high mortality  (B) Low fertility & low mortality

(C) Both (A) & (B) (D) None of these
b fawg & fagmi = AFa e Yaeis e fear g 2
(A) feraT (B) et

(C) |¥pa (D) arefemmes

The scholars of which subject have developed human development

index ?
(A) Physics (B) Geography
(C) Sanskrit (D) Economics

9 fder™ & forg dIF SUNTH lo M |9 4 oSl © ?

(A) &¥dT SUrTH (B) MR ATTIHAT SURTH



(C) ®eIToT SURTH (D) 3ma 3UrTH
Which approach to human development is associated with Prof.
Amartya Sen ?
(A) Capability approach (B) Basic need approach
(C) Welfare approach (D) Income approach
12, JRM® AMT AU STaT—a9q & forg fa srfafaferr w iR o ?
(A) Tded (B) gerf=rA

(C) 3M=Ie UG HUEY] (D) fRremr
The earliest human beings were dependent on which activities for their
subsistence ?
(A) Tourism (B) Film
(C) Hunting & gathering (D) Education
13, TAONl TYERG R &Rd €

(A) 7 (B) Tl
(C) <rar (D) ®ud

Nomadic herders depend on :

(A) Livestocks (B) Bird
(C) Iron (D) Cotton
14, TR wEf 9 o E 7
(A) fagadia g (B) stmarfew wawr

(C) eI yewT (D) 74 PIg e



15.

16.

17.

Where are Reindeers found ?
(A) Equatorial region

(C) Mediterranean region
A SENT STeIRd @ -

(A) e W

(C) ST W

Cement industry is based on :

(A) Mineral

(C) Forest

g4 ¥ B il TR 8 ?
(A) 3IRT

(C) 3R

(B) Arctic region

(D) None of these

(B) THRH WR

(D) SR T

(B) Chemical

(D) Animal

(B) ST

(D) eETs

Which of these is an industrial city ?

(A) Ara
(C) Ajmer
T8 PIF Tiol 9 ddfd © ?

(A) I

(C) T

(B) Bokaro

(D) Lucknow

(B) IR
(D) s @I &

Which of these is associated with sledge ?

(A) Camel

(C) Cow

(B) Reindeer

(D) None of these



18.

19.

20.

21.

YRR IIERT HETART WSRO BT eTel-] d gafl off ?
(A) 1994 (B) 1995

(C) 1996 (D) 1997

When was the National Highways Authority of India operationalised ?

(A) 1994 (B) 1995

(C) 1996 (D) 1997

fFrefoiRaa § | @ JAde fharean g 2

(A) g% (B) pf¥

(C) amEe (D) @mMR
Which of the following is a Tertiary activity ?

(A) Weaving (B) Agriculture
(C) Hunting (D) Trading
e | AR WR Sfidheivs sraferd § ?

(A) =ferolt sreetifes (B) =feroh genid

(C) ST sredife® (D) g9 A PIg Bl
On which sea route Auckland is located ?

(A) Southern Atlantic (B) Southern Pacific
(C) Northern Atlantic (D) None of these
b T4 R gATSH UK faRed © ?

(A) T (B) Sg

(C) &= (D) @



22.

23.

24.

On which river is Dusseldorf port situated ?

(A) Rhine (B) Danube

(C) Seine (D) Volga

fhd 32 H T W SREF dF Y DI YT USUATST & SIRY Bl ST & ?
(A) ZgeT (B) ¥=a

(C) g (D) =oirers

In which country milk is supplied through pipeline from farms to
factories ?

(A) Ukraine (B) India

(C) Sudan (D) New Zealand

YRA H b MBI AT B U™ gg 7

(A) 1990 (B) 1991

(C) 1992 (D) 1993

When was Open Sky Policy introduced in India ?

(A) 1990 (B) 1991

(C) 1992 (D) 1993

D A yfdad Aea fawrs Ruid &1 yebee axdl g 2

(A) WHO (B) UNICEF

(C) UNDP (D) OPEC

Which Organisation publishes human development report every year ?

(A) WHO (B) UNICEF

10



25.

26.

27.

28.

(C) UNDP (D) OPEC

T Sifddl Y U8 Sl 2

(A) IR URFH BT H (B) faror qd arpipT H
(C) TR 4d wH H (D) ferer g wfRran
Intensive subsistence agriculture is found in :

(A) North West Canada (B) South East Africa
(C) North East Russia (D) South East Asia
A qearey 2

(A) CIS &r (B) ASEAN T

(C) OPEC &1 (D) 578 9| BIg T8I

Minsk is the headquarters of :
(A) CIS (B) ASEAN

(C) OPEC (D) None of these

MY MR § ol (I g foher & 2
(A) 101 (B) 51
(C) 22 (D) 11
What are the total scheduled languages in modern India ?
(A) 101 (B) 51

(C) 22 (D) 11

AR, FASIRA 3R AARTele H D19 AT drell Sl 2 2
(A) T (B) 3mi=

11



29.

30.

31.

(C) =rfafsa (D) frsTe
Which language is spoken in Manipur, Mizoram and Nagaland ?
(A) Kirata (B) Aryan

(C) Dravidian (D) Nishada

fpg ueer # YoifRgd ur=aq TR Il gl Iy 8 2
(A) EIRTEl 91T (B) ©irar =1t
(C) Rig =y (D) wATareTHY

In which region the oldest well documented urban settlement has been

found ?
(A) HwangHo valley (B) Nile valley
(C) Indus valley (D) Mesopotamia

TN U IQTERVT &

(A) UTdE IR BT (B) 3Mmegf-iep TER Bl
(C) FedhTel| IER B (D) 378 | BIg 2
Prayag is an example of :

(A) Ancient town (B) Modern town

(C) Medieval town (D) None of these

§TH I FIpIAdh B BT I&1ER & 7
(A) g=n (B) gdTT

(C) sTTgR (D) TR

Which of these is an example of cultural town ?

12



32.

33.

34.

35.

(A) Pushkar (B) Babina

(C) Danapur (D) Srinagar
% SETERT B

(A) NeAfOTR eTER BT (B) IR\ ¥&R @1
(C) sienfire wex 31 (D) 579 & 1S 75

Mhow is an example of :
(A) Educational town (B) Garrison town

(C) Industrial town (D) None of these

fferRaa # o yf SwanT aFffaxor =8 ® 2

(A) & ara T & (B) u=eht 1A
(C) Pfiy dvar cush wif (D) et o
Which of the following is not a land use category ?
(A) Net Area Sown (B) Fallow land

(C) Culturable wasteland (D) Marginal land

gRd wwifer &1 T 7 -

(A) waa (B) woeh &
(C) =T = (D) 3feT &
Green revolution is associated with :

(A) Crop (B) Fish
(C) Forest (D) Egg
gTH U BIF DB IUEH & oy URig © ?

13



36.

37.

38.

(A) uRe TTe (B) gdt =me

(C) wagsT T (D) fewrera wda
Which of these is famous for coffee production ?
(A) Western Ghat (B) Eastern Ghat

(C) Satpura mountain (D) Himalayan mountain

MRAR ST & oo g § 8 7

(A) 7= UQeT (B) BHrael  Uxl

(C) armer we= (D) 3r%UTTerd Fawr
Bharmaur tribal area is in which state ?

(A) Madhya Pradesh (B) Himachal Pradesh

(C) Andhra Pradesh (D) Arunachal Pradesh

STTgaT foTer foh o # 7 2

(A) fagr (B) svEe

(C) wed yaw (D) BT
Jhabua district is in which state ?

(A) Bihar (B) Jharkhand
(C) Madhya Pradesh (D) Chhattisgarh
e 9 fhaH Faiftd grfior aeral 2 2

(A) TSRS (B) §Te} U4 AR gdall
(C) @rerg1y (D) faeelt

Which of these has maximum rural population ?

14



39.

40.

41.

42.

(A) Chandigarh (B) Dadar and Nagar Haveli

(C) Lakshadweep (D) Delhi
IO & o Pl 7 ?

(A) et (B) TRt
(C) R (D) Herdrs

Where is the capital of Australia ?

(A) Perth (B) Canberra
(C) Sydney (D) Melbourne
TR 1 AheddT fa & 8 ?

(A) U fafss (B) = wired

(C) &¥TeT (D) Yeste

Who has given the concept of conurbation ?

(A) Patrick Geddes (B) Gene Gottman

(C) Humboldt (D) Ratzel

SIRES H BT W dal g ?

(A) 3T (B) srHEEqR o

(C) wikar ¥ (D) 378 & BIg el
Where is Coal mine in Jharkhand ?

(A) Ranchi (B) Jamshedpur
(C) Jharia (D) None of these

HTef3rell ®af 8 ?

15



(A) fagr (B) IroTeer=
(C) svEvs (D) 7T
Where is Ghatshila ?

(A) Bihar (B) Rajasthan

(C) Jharkhand (D) Goa

YRA BT Y2H AT b hal g 2

(A) 7= (B) ¥xa
(C) a1ars (D) fewrarg
Where is the first oil refinery of India ?

(A) Panna (B) Surat
(C) Dhanbad (D) Digboi

S PIF T IOTHRT faeell 3R BIAdrar o IR Bl Sirsdl & °

(A) NH-1 (B) NH-2

(C) NH-3 (D) SH ¥ Bl 2l

Which National Highway connects Delhi with Kolkata via Varanasi ?
(A) NH-1 (B) NH-2

(C) NH-3 (D) None of these

Sfaror He XeTd T EATAd HEl faRkerd 27
(A) Rieremare (B) g
(C) a=Te (D) gaeh

Where is the headquarters of south-central Railway located ?

16



(A) Secunderabad (B) Bengaluru
(C) Chennai (D) Hubli
46. 3TH W PHBI ATYAT SIS SIS T8l § ?

INESIE] (B) oI

(C) IREs (D) #eg g

Which of these has no scheduled tribe population ?

(A) Punjab (B) Rajasthan

(C) Jharkhand (D) Madhya Pradesh
47.  TRIR HeRT ®

(A) T STl (B) ¥R ot &

(C) ua il | (D) i ot |

Tarapur is associated with ?

(A) Atomic energy (B) Solar energy

(C) Wind energy (D) Thermal energy
48. T B 1ffd TR T ?

(A) et (B) wriset

(C) ®eri (D) & & P1¢ T

Which of these is a religious town ?

(A) ltarsi (B) Kandla

(C) Katni (D) None of these

49. 39 I Ale—SWId Pg ol § ?

17



50.

51.

52.

(A) forerg (B) TR

(C) smm=r (D) S1BRI
Which of these is not an iron and steel centre ?
(A) Bhilai (B) Durgapur
(C) Agra (D) Bokaro
STH | DI ol 9 ST s © ?

(A) PTTIR (B) TTgR

(C) ey (D) 375 & 4+
Which of these is a cotton textile industry centre ?
(A) Kanpur (B) Nagpur
(C) Solapur (D) All of these

STH DA eI TR T8 § ?

(A) warach (B) PreT
(C) Ferm (D) BT
Which of these is not an industrial town ?

(A) Bhadravati (B) Kota
(C) Salem (D) Kanpur
$TH B IRd ® gdi d¢ W Red e T8 § ?
(A) TRTT™ (B) o=7g
(C) BT (D) g5

Which of these ports is not situated on the eastern coast of India ?

18



53.

54.

55.

56.

(A) Paradip (B) Chennai

(C) Kolkata (D) Mumbai
Hlex 9 | © ¢

(A) Tes Arf A (B) urguets |
(C) argArt w (D) Yot ¥

Metre gauge is associated with :

(A) Roadways (B) Pipeline
(C) Airways (D) Railways
ferTge Heferd © -

(A) dIE 3 %® | (B) dfeT 3R A
(C) P | (D) dfaarge &

Lignite is associated with :
(A) Iron ore (B) Copper ore

(C) Coal (D) Bauxite

gTH DI WU PleR dTell HaT g ?

(A) st fepa (B) U= fma

(C) faciraa forar (D) 377 & &S T
Which of these is a gold collar service ?

(A) Primary activity (B) Quinary activity
(C) Secondary activity (D) None of these

ON ON (N

FeforRad H @19 a1 3fRGT BT BRI 8] & ?

19



57.

58.

59.

(A) FegerReT (B) aiTgerT

(C) =T (D) 3ruaTs

Which of the following is not a cause of soil erosion ?
(A) Weathering (B) Deforestation

(C) Grazing (D) Drainage

gTH ¥ DI 3R () I & Iedred H rofl 7 2

(A) fadgr (B) anifgem

(C) #eRTS (JREIE

Which of these is the leading producer of Arhar (Tur) pulses ?
(A) Bihar (B) Odisha

(C) Maharashtra (D) Punjab

Plac KT I BT AdeT 8

(A) T ISR (B) T T are gl
(C) TRrrg 2R (D) &7 & BIg el
Corbet National Park is associated with :

(A) Bengal Tigers (B) One horned Rhinos
(C) Asiatic Lions (D) None of these

WRAYR Gefl SIRUY &1 T 1 F7 B 2
(A) 999 I/ARTY (B) dadted O T ™
(C) AelHatell Uell MIRvy (D) URIR I 3

What is the new name of Bharatpur Bird Sanctuary ?

20



60.

61.

62.

63.

(A) Manas Sanctuary (B) Keoladeo Ghana National Park
(C) Salim Ali Bird Sanctuary (D) Periyar National Park
FIfeRaa & i ol BT ARV Al & 2

(A) STet (B) a9

(C) |R (D) Ta=

Which of the following is non-renewable source of energy ?

(A) Hydel (B) Thermal

(C) Solar (D) Wind

S A P T ol § e & ?

(A) @mar =Tt (B) g =t

(C) g (D) 3774 & PIE e
Which of these is associated with geothermal energy ?
(A) Lamba Valley (B) Puga Valley

(C) Bhuj (D) None of these

el wdl B ey fod @fe 9 8 ?

(A) DI (B) ER1

(C) 3ru® (D) TS
Which mineral is associated with Bengal ruby ?
(A) Coal (B) Diamond
(C) Mica (D) Manganese

T 9 B U g TR 8 7

21



64.

65.

66.

(A) T3 (B) gRreTaTe
(C) R (D) grRTOA
Which of these is a planned city ?

(A) Chandigarh (B) Muradabad
(C) Agra (D) Varanasi

fr=frRaa & I SN YRT &1 Uh R 8 & 7

(GYERCIE (B) W
(C) gor (D) #R
Which of the following is not a city of north India ?
(A) Dhanbad (B) Agra

(C) Pune (D) Srinagar

gTH ¥ BIF W A9d IUTGH I el © ?

(A) IR <9 (B) uf¥=M 9Tt
(C) foer (D) VoI
Which of these is not a main rice producing state ?
(A) Uttar Pradesh (B) West Bengal

(C) Bihar (D) Rajasthan

98 ¥ I IR IR BI Al © ?
(A) TR (B) o
(C) AT (D) TR

Which of these is a river of north India ?

22



67.

68.

69.

70.

(A) Periyar (B) Krishna
(C) Gomati (D) Pennar
3idheredR fd rog # 8 7

(A) TorTd (B) TR
(C) RS (D) @xa

Ankleshwar is in which state ?

(A) Gujarat (B) Rajasthan

(C) Maharashtra (D) Kerala

T ¥ Rawged & 9= ey § ?

(A) Ugiferas & (B) vIc

(C) STatfdggd & (D) dfedTge 9
With which of these is Shivasamundram associated ?
(A) Petroleum (B) Jute

(C) Hydel Power (D) Bauxite

gTH P UqHD B ?

(A) =T (B) S

(C) FohR SRS (D) aiferdTsT
Which of these is a pollutant ?

(A) Lead (B) Zinc

(C) Sulphur dioxide (D) Oxygen

ON ON (N

frforRaa o die gUCTSied &l BRI © ?

23



(A) STeT gquoT (B) g ugwor

(C) eafy wrgwor (D) 3f& wguor
Which of the following is the Cause of hepatitis ?

(A) Water Pollution (B) Air Pollution
(C) Sound Pollution (D) Land Pollution

Yvs—4q / Section-B

oY ITRIA 999 / Short Answer Type Questions

UeT AT 1 Y 20 oY SR 3| fB=l 10 Ul & SR 3| ISP b ol 2 3
frerifa #) (10x2=20)

Question Nos. 1 to 20 are Short Answer Type. Answer any 10 questions.

Each question carries 2 marks. (10x2=20)

1. Hadrdrg &7 g ?
What is humanism ?
2. YHY T Yfddpy HRE § Ifdx I |

Differentiate between pull and push factors .

3. TG STAIAT T & 7
What is productive population ?
4. Afed Y @17 ?

What is collective farming ?

5. TS STed bl &l <9 & A forfRay |

24



10.

1.

12.

13.

14.

15.

Name any two rubber producing countries.

3ienfires ax<lt & MY T FHerd § ?

What do you mean by industrial estate ?

SR ST Bl IR BT |

Define basic industry.

TS e & a1 Iamever AT |

Give two examples of tertiary activities.

TR THROT T & 7

What is outsourcing ?

Tsd URTed @ fhel & AR B ool HIFT |
Mention any two problems of roadways.

qr=d faprg & Hobddl & A8 forfRau |

Name the indicators of human development.

UpHIo 3R Ao IRTAT & a9 3iaX BT |

Differentiate between dispersed and compact settlements.

ARG TR T & ?

What is commercial town ?
O YA A MY a1 FHI & ?

What do you mean by barren land ?

YRT P ST I IS HI dlel Il b A9 forfRgu |

Name two tea producing states of India.

25



16.  Udl WRA @ T 1T IREAT BT Soel BT |
Mention two river basins of eastern India.
17, SIS JEgT 31 © ?
What is watershed management ?
18. 9NN ®T § ?

What is Biogas ?

19. ¥RA & &I GRAY] Holl IaTed gl & AW foffy |

Name two atomic power producing states of India.

20.  aq avofg faerg @ g °?

What is sustainable development ?

9" 9a9g 939 /Long Answer Type Questions

o

U9 G721 O 26 o1 SN 2 | bl 9 UvHl & S9N © | U D folU 5 3k

fefRa §) (3x5=15)

Question Nos. 21 to 26 are Long Answer Type. Answer any 3 questions.

Each question carries 5 marks. (3x5=15)

21, ARAN $Y & AR BT ool HIY |

Mention the problems of Indian agriculture.

22. TERN Bl JaRAFT BT FITfAT BT dTel BRBI DT guI- HIFIT |

Describe the factors influencing the location of industries.

23. AYal ARG AR P GAIAT R dlel DIRDI BT quF DI |

26



24,

25.

26.

Describe the factors influencing ocean trade routes.
ARA H Ugiferi¥ & Scared Ud faaxor &1 faavor iy |
Give an account of production and distribution of petroleum in

India.

TR ¥ gl Ud ST ST & fIaRoT &) IRAT HIfIT |

Explain the distribution of iron and steel industry in India.
g &y f[Idh SR IR e Al fewolt foriay |

Write a short note on the hill area development programme.
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